SPORTS & COLLECTOR CAR CENTER 942 W. 1ST. STREET Tempe, AZ. 85281 Phone - 480-968-5000 Fax - 480-968-5003 TAKING CARE OF YOUR VEHICLE IS NOT OUR JOB IT'S OUR PASSION

INVOICE 4785 Org. Est. # 009586

INVOICE				Print Date: 0	7/23/2013
				1972 FERRARI - DINO	
				V-6	
				Lic#: Odometer In	•
				Unit#:	
				Vin#:	
				Hat#:	
Part Description / Number	Qty	Sale	Extended	Labor Description	Extended
Shop Supplies		7.50	7.50	INSPECT & ASSESS CURRENT RUNNING /	N/C
				OPERATING CONDITION	
				START ALL OF THE FERRARI S ASSESS	
				RUNNING CONDITION	
				07/23 RETURN TO RUSSO	220.00
				INSTALL FUEL LINE GET CAR RUNNING,	
				SET IGNITION TIMING AND CHECK ALL	
				TUNE SPECS, BALANCE & SYNC CARBS,	
				REFIT INNER FENDER INSERT & AIR	
				CLEANER ASSY. ROAD TEST	
				COMPRESSION TEST RESULTS	
				1) 165	
				2) 165	
				3) 170	
				4) 160	
				5) 155	
				6) 160	
				07/19 GO TO RUSO TO INSPECT CAR	330.00
				CAR RUNS POORLY, R&R RIGHT REAR	
				WHEEL IN ORDER TO GAIN ACCESS TO THE	
				DISTRIBUTOR, SERVICE THE IGNITION	
				POINTS, REMOVE SPARK PLUGS, CLEAN	
				PLUGS & REGAP, R&R AIR CLEANER, R&R	
· · · · · · · · · · · · · · · · · · ·		•	• •	CARB TOPS	330.0
				07/22 GO TO RUSSO	00000
				INSTALL IGNITION POINTS, SET TO SPEC, INSTALL DISTRIBUTOR CAP & IGNITION	
				ROTOR, PERFORM COMPRESSION TEST,	
				RECORD READINGS, INSTALL PLUGS,	
				INSTALL CARB JETS (AFTER CLEANING)	5.0
				Hazardous Materials	5.0

SPORTS & COLLECTOR CAR CENTER 942 W. 1ST. STREET Tempe, AZ. 85281 Phone - 480-968-5000 Fax - 480-968-5003

INVOICE 4785 Org. Est. # 009586

01.17.07 Copyright Mitchell 1 Invoict

TAKING CARE OF YOUR VEHICLE IS NOT OUR JOB IT'S OUR PASSION

INVOICE						Print Date: 07	7/23/2013
	- · - · · · · · · · · · · · · · · · · ·			1972 FERRARI -	DINO		
				V-6			
				Lic#:		Odometer In :	
				Unit#:			
				Vin#:			
				Hat#:			
Part Description / Nur	nber Qt	y Sale	Extended	Labor Description			Extended
		·					
• • •				-			
					• • • •		
			i				
[Technicians : Please Sele	ct. Technician 1						
Org. Estimate \$893.12	Revisions \$0.00	Current	Estimate \$89	3 12 Additional Cast	Devland 5-41		· · · ·
		Janont		Auditorial Cost	Revised Estimate	Labor:	885.00
						Parts:	7.50
						Sublet:	0.00
						1	
						Sub:	892.50
						Tax:	0.62
[Payments -]						Total:	893.12
i oyuunii i						Bal Due:	\$893.12
I hereby authorize the ab	Ava rancia made de L		***				
I hereby authorize the ab	ove tehatic work to be	done along	with the nece	essary material and herel	by grant you and/o	or your employed	25
permission to operate the express mechanic's lien is one years or 12 000 miles	car or nack retein a	escrinea on 4	arreet hichw	DUC AP Alcambara for the		<i></i>	4-
one years or 12,000 mile	s whichever comes fi	rst. Warrant	val of Huck I V work has to	o be performed in our of t	epairs increto. W	arranty on parts a	and labor is
repair.		** ***	, Itas II	berreinten in om 30	oh er cannot exce	en me oukiusi e	nar nı
SIGNATURE		*****		Date	4	·ima	
Written By: RITZ, JOE				Date 32 of 2		ime	Mahalla lavalea

SPORTS & COLLECTOR CAR CENTER 942 W. 1ST. STREET Tempe, AZ. 85281 Phone - 480-968-5000 Fax - 480-968-5003 TAKING CARE OF YOUR VEHICLE IS NOT OUR JOB IT'S OUR PASSION

INVOICE 4864 Org. Est. # 009749

			-				
INVOICE					F	Print Date: 0	8/22/2013
				1972 FERRARI -			
				V-6			
				Lic#:		Odometer In	•
			`	Unit#:			
				Vin#:			
				Hat#:			
Part Description / Numl	per Qty	Sale	Extended	Labor Description			Extended
				CHECK & REPAIR S'	TARTER REMAN	NS	220.00
				ENGAGED ON STAR	TING		
				GO TO RUSSO INS			
				IGNITION SYSTEM		-	
				IGNITION SWITCH			
				RETURN TO RUSS			
				WHEN THE NEW P	-		
				& TEST REPLACEN	MENI SWIICH,	OR:	
							•
				1			
(Topholoione - DITZ DATE)	012 44 3						
(Technicians : RITZ, PATRI Org. Estimate \$220.00	Revisions \$0.00	Current	Estimate S 2	20.00 Additional Cost	Revised Estimate	Labor:	220.00
		· · · · · · · · · · · · · · · · · · ·				Parts:	0.00
						Sublet:	0.00
						Sub:	220.00
						Tax:	0.00
[Payments -]						Total:	220.00
(rayments -)						Bal Due:	\$220.00
I hereby authorize the aborermission to operate the express mechanic's lien is one years or 12,000 miles repair.	car or truck herein de hereby acknowledge	escribed or ed on above	street, high car or truck	ways or elsewhere for the to secure the amount of	purpose to testing repairs thereto. W	g and/or inspectarranty on part	ction. An is and labor is
	~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~	************			***************************************	Гіте	
Written By: RITZ, JOE			Pa	ige 1 of 1		01 17.07 Convrio	na Milichell 1 involct

### **SPORTS & COLLECTOR CAR CENTER**

2042 W. 1ST. STREET Tempe, AZ. 85281 Phone - 480-968-5000 Fax - 480-968-5003 TAKING CARE OF YOUR VEHICLE IS NOT OUR JOB IT'S OUR PASSION

INVOICE 6723 Org. Est. # 013284

INVOICE

Print Date: 08/28/2015

1972 FERRARI - DINO

V-6

Lic#:

Odometer in:

Unit#: Vin# ·

				Vin#:	
				Hat#:	
Part Description / Number	Qty	Sale	Extended	Labor Description	Extended
BATTERY TERMINAL END				INSPECT & PREP FOR AUCTION	1,495.00
Tl	1.00	4.50	4.50	GO TO RUSSO, INSTALL FACTORY RADIO,	
Shop Supplies		7.50	7.50	REPAIR & REMAKE ELECTRICAL	
				CONNECTION. TEST INTERIOR LIGHTS,	
				BLOWS FUSE, TRACE CIRCUIT, @ BOTH	
				INTERIOR LIGHTS, NO SHORT INDICATED,	
				WHEN CIRCUIT IS COMPLETED FRONT FAN	
				COMES ON, EVEN WITH KEY IN OFF	
				POSITION, REMOVE RADIO & WIRING TO	
				ACCESS WIRING AND CIRCUITS BEHIND	
				DASH, REMOVE RIGHT SIDE INTERIOR	
				LIGHT,, REPAIR SHORTS. TEST LEFT SIDE	
				INTERIOR LIGHT, NO CONTINUITY FROM	
				DRIVER SIDE TO PASSENGER SIDE,R&R	
				LEFT INNER FENDER PANEL, RUN A NEW	
				WIRE FROM DOOR SWITCH TO RIGHT	
				POSITIONED LIGHT, CONNECT TO	
				ORIGINAL LOOM. INSTALL DOOR JAMB	
				PANELS, WHILE WORKING UNDER THE	
				DASH NOTICED 3 CABLESTHAT OPERATE	
				HEATER VALVE, AND VENTS R&L, ALIGN &	
				FIT 3 BOWDEN CABLE, OPERATE VENT	
				DOORS, CONNECT & ADJUST CABLES,	
	•			IDENIFY THAT THE HEATER VALVE IS	
				SIEZED. (LEFT IT ALONE AS NOT TO	
				INITIATE A LEAK) TEST VENT FUNCTIONS	
				& REINSTALL DASH. REPAIR GROUND WIRE	
				PROBLEM @ LEFT FRONT HEAD LIGHT,	
				REPAIR & REMAKE WIRING &	
				CONNECTIONS @ RIGHT & LEFT FRONT	
				TURN SIGNALS. TRACE & REPAIR BROKEN	
				GROUND @ LEFT REAR TURN SIGNAL,	
				REPLACE BULG @ INSTRUMENT PANEL,	
				R&R CLUSTER, TEST START FUNCTION &	
				ALL LIGHTS	
				1	e (

Hazardous Materials

SPORTS & COLLECTOR CAR CENTER
2042 W. 1ST. STREET
Tempe, AZ. 85281
Phone - 480-968-5000 Fax - 480-968-5003
TAKING CARE OF YOUR VEHICLE IS NOT OUR JOB IT'S OUR PASSION

INVOICE 6723 Org. Est. # 013284

INVOICE					Р	rint Date: 08	/28/2015
				1972 FERRARI - V-6 Lic # : Unit # :		Odometer in :	
				Vin#: Hat#:			
Part Description / Number	er Qty	Sale Ext	anded 1	abor Description			Extended
( Technicians : Please Select							
Org. Estimate \$1,513.00	Revisions \$0.00	Current Estin	nate \$ 1,513	LO9 Additional Cost	Revised Estimate	Labor:	1,500.00
						Parts: Sublet:	12.00 0.00
						Sub: Tax: Total:	1,512.00 1.00 1,513.00
[Payments - ]						Bai Due:	\$1,513.00 \$1,613.00
I hereby authorize the abo permission to operate the express mechanic's lien is one years or 12,000 miles repair.	car or truck herein des hereby acknowledged	ribed on stre on above car	et, highway or truck to	ys or elsewhere for the secure the amount of	e purpose to testing repairs thereto. W	; and/or inspec arranty on part	rees tion. An s and labor is
01001 A 554 100 10	**************************************			Date		ime	*******
Willon Be RITZ JOF				2 of 2		01.17.07 Copyrig	hi Miliahail 1 Invoict



9119 White Oak Lane Westerville, OH 43082

Phone: 614-891-5678 Fax: 614-885-4879

### www.njbautomotive.com

## Invoice

SHOP LOCATION

10877 R Fancher Road Westerville, OH 43082

Sold To	P.O. No.	Date .	Invoice #
		4/2/2013	150
		Project	

Quantity	Description	Rate	Amount
8 Labor - Brakes	2000 Ipinah	115.00	920.00
4 Labor - Pan Seals		115.00	460.00
3 Labor - Alt		115.00	345.00
4 Labor - Carbs/Tune		115.00	460.00
2 Labor - Fluids		115.00	230.00
2 Labor - Lever Assm		115.00	230.00
2 Labor - Shifter Repair		115.00	230.00
3 Labor - Oil Lines		115.00	345.00
3 Labor - Water Hoses		115.00 115.00	345.00 575.00
5 Labor - Water Pump 2 Labor - Thermostat Assm		115.00	230.00
2 Labor - Mermostat Assin 2 Labor - Wiring Repairs		115.00	230.00
2 Labor - Accessory Belts		115.00	230.00
2 Labor - Console Repair		115.00	230.00
<ul> <li>Vent latches (N/C)</li> </ul>			
- Trunk Support			
- Radiator Cap			
- Dipstick			
- Clutch Boot			
1 Parts - Clutch Boot		97.00	97.00
1 Parts - Battery & Cables		80.00	80.00
1 Parts - Trunk Support		140.00	140.00
1 Parts - Radiator Cap		35.00	35.00
1 Parts - Lever Assm		335.00	335.00
1 Parts - Vent Latches		180.00	180.00
1 Parts - Window Switches		112.00 970.00	112.00 970.00
1 Parts - Oil Lines		680.00	680.00
Parts - Water Pump     Parts - Thermostat Assm		275.00	275.00
1 Parts - Brake Hoses		462.00	462.00
1 Parts - Fuel Filter		37.00	37.00
1 Parts - Oil Filter		37.00	37.00
1 Parts - Wheel Seals		80.00	80.00
1 Parts - Wheel Bearings		120.00	120.00
1 Parts - Brake Pads		192.00	192.00
1 Parts - Shifter Spring		57.00 86.00	57.00 86.00
1 Parts - Pan Gaskets 1 Parts - Misc		15.00	15.00
1 Faits - Misc		15.50	10.00

Total



Sold To

Phone: 614-891-5678 Fax: 614-885-4879

### www.njbautomotive.com

# Invoice

SHOP LOCATION 10877 R Fancher Road Westerville, OH 43082

P.O. No.	Date	Invoice#
Approximate the second	4/2/2013	150
	Project .	

Quantity	Description	Rate	Amount
	Sublet - Calipers & Freight	1,000.00	1,000.00
	1 Fluids - Gas 1 Fluids - Castrol GTX 15/50 1 Fluids - MOBIL 1 Gear Oil (8 lbs) 1 Fluids - AGIP DOT 4 1 Fluids - Anti Freeze (2 gal)	50.00 36.00 96.00 24.00 24.00	50.00 36.00 96.00 24.00 24.00
	Pickup/Delivery - Deliver 275 - Pickup 365	325.00	325.00

NOTE: Paid \$4,925.00

BALANCE DUE: \$5,680.00